MIDTERM EXAM I

SECTION 1: TVM
There will be about 5 questions on excel on TVM that you need to use excel format formulas to calculate including FV, PV, Rate, Time, PMT
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SECTION 2: PORTFOLIO MANAGEMENT
There will be one question from the three formats below (A,B,C) that you need to calculate Average Rate of Return and Standard Deviation:
FORMAT A (Historical:
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FORMAT B (Historical):
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FORMAT C (Scenario):
[image: ]
There will be one question that you need to allocate your stocks and bonds and calculate the Correlation:
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There will be one question on portfolio management to calculate portfolio returns, standard deviation, CAPM, Sharpe Ratio, Alpha and Treynor coefficient.
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Description

Stock

Portfolio Z

Stock

Portfolio X

Stock

Benchmarke

t

Average Return 15.00% 18.00% 9.00%

Risk-Free Return 1.50% 1.50% 1.50%

Standard Deviation 22.00% 33.00% 16.00%

Beta 1.250 1.400 1.000

Risk Premium Return

Market Premium

Capital Asset Pricing Model

Sharpe Ratio

Jensen’s Alpha

Treynor Measure

Output
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INPUT

PV=

FV=

RATE=

TIME=

PMT=

OUTPUT
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Year

(n)

Stock Price

Stock 

Price (% 

Change)

St Dev 

(R-AvgR)^2

1 110

2 121

3 105

4 140

5 165

6 135

7 145

Average=

 Total =

(n-1)=

Variance=

St Dev=
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Year

Stock 

Price

Dividends

HPR (% 

Change)

St Dev 

(R-

AvgR)^2

1 100 3.5

2 115 4.1

3 95 4.1

4 110 4.1

5 125 4.6

6 120 5

7 140 5.2

Average=

 Total =

(n-1)=

Variance=

St Dev=
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Economic 

Scenario

Probability 

%

Rate of 

Return %

p. RoR

(RoR-

AvgROR)^2

p. (RoR-

AvgROR

)^2

Recession 25.00% -10.00%

Normal 50.00% 12.00%

Boom 25.00% 25.00%

Total 100.00% Average= Variance=

St. Dev=
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PORTFOLIO ANALYSIS (Asset Allocation)

Asset Allocation

Weights (W%)

Stocks (Ws) =

50%

Bonds (Wb) =

50%

COVARIANCE & CORRELATION

Scenario 

(S)

Probability

(p)

ROR %

(r

s

)

 p * r

s

%

Deviation 

for Exp. 

Ret.

(Dev.)

Square 

Deviation

(SD)

Dev^2

p * SD

Stocks 

(Deviatio

n from 

the 

mean)

Bonds 

(Deviatio

n from 

the 

mean)

Ds * Db

Covariance

 [p * (Ds*Db)

Recession (Sr) 35.0%

Normal (Sn) 40.0%

Boom (Sb) 25.0%

100.0% 2-1c

% Variance= Covariance=  

2-1d

% Correlation Coefficient =  

2-1e
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Assets

Portfolio 

Allocation 

%

Expected 

Rate of 

Return

 $ Allocation

Expected

Profit

Weghted

Average

Expecred

Return

Risk-Free Assets

T-Bills 20% 2.00%

Risky Assets

Bonds 50% 6.00%

Stocks 30% 20.00%

Total

100% 100,000

2-2c

Risky Portfolio 

 % of Total

Weights

Expected 

Rate of 

Return

Expected 

Standard 

Deviation

Correlation

Bonds

Stocks

Total Risky Portfolio

Standard Deviation =


